Jammu & Kashmir

OFFICE OF THE EXECUTIVE ENGINEER PHE DIVISION SOPORE

M/s Tantary Construction Co.

Prop.: Fayaz Ahmad Tantary, S/o: Ghulam Ahmad Tantary,

R/o: Dharmhama, Mantrigam Bandipora

Reg. No.: CE/I&FC/Sgr/02(Two)/AAY/2016-17

E-Mail: fayaztantaryayahoomail.com

Phone No: 8448836 12

Position of AAA : Accorded Position of T.S : Accorded

Dated: 24-04-2023

Advt. Cost: Rs.112.14 lacs Allott. Cost: Rs.108.21 lacs

Time of Complt.: 120 days

Retrofitting of water supply scheme Kanhar Colony incl. Construction incl. Successful testing & Commissioning of 0.25 Lac Gallons Service Reservior along with Sluice Chamber, laying fitting of pipes, anchor block, Chain link Fencing, Chowkidar Quarter Retaining Wall & allied works under JJM (Tender Id: 2023_PHE_209427_1).

Ref:

1. Your on-line tender received in response to this office Fresh E-NIT No: 03/JJM/JSDS of 04/2023 dated: 07-04-2023 S.No: 01

2. Superintending Engineer Hyd. Circle Sopore's Authorization issued

vide No: SE/Hyd./DB/577-89 dated: 24-04-2023

For and on behalf of Lt. Governor of Jammu and Kashmir Union Territory, contract for the work mentioned above is here by fixed with you on the following rates, terms and conditions.

S.	Particulars of Items	Unit	Quantity	Allotted	Amount in
No		0	/	Rate	Rs. *
1	Earth work in excavation by mannual means over areas (exceeding 30cm and upto 1.5m in depth and width as well as 10 Sqm in Plan) including disposal of excavated earth upto 1m cutting edge, disposed earth to be levelled and	Cum	2043.00	436.00	890748.00
()	neatly dressed in all kinds of soil.		e	م	2
2	Earth work in excavation by mannual means over areas (exceeding 30cm and upto 1.5m in depth and width as well as 10 Sqm in Plan) including disposal of excavated earth upto 1m cutting edge, disposed earth to be levelled and neatly dressed for foundations		472.99	539.35	255107.16
3	Earth work in excavation by mannual means over areas (exceeding 30cm and upto 1.5m in depth and width as well as 10 Sqm in Plan) including disposal of excavated earth upto 1m cutting edge, disposed earth to be levelled and nearly dressed. Ordinary Rock		19.44	885.55	17215.09

nical Officer

		2nd
Da	OC	Zina

Fin	Page 2"	dony 1	ınder JJN	1	Amount in
	Page 2 nd W.S. Scheme Kanhar Co	Unit	Quantity	Allotted	Rs.
	W.B. Star		R		2370.30
	Particulars of Items	X	29.03	81.65	
S.	Extra for earthwork in excavation beyond 1.5m	Cum	1	016.40	53866.07
No	d work in excavation beyond 1.00	Cum	65.98	816.40	
4	Extra for earthwork in excavation beyond providing and laying of dry Stone soling in providing and laying of dry Stone soling in providing and laying of dry Stone soling in providing telephone soling in the solin	Carr	Q	= 1.04	245085.35
1	1 15 0 0110 180 - 0	Cum	50.41	4861.84	
5	Providing and level. horizontal on level. Providing and laying in position cement providing and laying in position to come of specified grade excluding the cost of the cost	Cum	7	E	
	horizontal on level: Providing and laying in position certain providing and laying in position terrain concrete of specified grade excluding the cost of concrete of specified grade excluding the cost of concrete of specified grade excluding the cost of concrete or specified grade excluding the		_		0
6	Providing and Lay of the Cost of Concrete of specified grade excluding the Cost of Concrete of Cost of Concrete of Cost of Concrete of Cost of C			1	+
	centering and shuttering. The agg. 40 mm				16320.59
	concrete of spectfield 3 centering and shuttering, 1:4:8 (1 centerior centering and shuttering, 1:4:8 (1 centerior centering and shuttering, 1:4:8 (1 centerior centerior centerior and spectfield and shuttering, 1:4:8 (1 centerior center	Sqm	29.38	555.50	1002
	nominal size Crushed DPC 50mm thick with	Sqm		1	P
7	nominal size Crushed Providing and laying DPC 50mm thick with cement concrete 1:2:4 mix stone aggregate 20	0	R		18388.00
- 1	cement concrete	Cum	45.97	400.00	18300.00
1	min crushed .		39.37	5437.74 🤌	214083.82
0	cumply of Boulders -ition cement	Cum	. 39.01		
9	Providing and laying in position concrete of specified grade 1:3:6 excluding the concrete of specified grade hypersequences.	0		1	(
	concrete of specifical grades	-	72.00	6465.20	465494.40
	cost of centering and in position cement	Cum	72.00		
10	Providing and laying his hading curing but				
	concrete of specifical grade shuttering.				
	excluding the cost of centring and street excluding the cost of centring the centring the cost of centring the centring the cost of cen				1
	All work upto plinth level with. The course sand: 4 graded stone aggregate 20: 2 coarse sand: 4 graded stone aggregate 20	0	0		
	mm nominal size)		8.82	10404.57	91768.31
		Cum	0.02		
11					0
	excluding the cost of centering and shuttering.	0	0	0	<i>Y</i>
		Cum	20.69	6254.15	129398.36
12	Providing and laying in position Reinforced	Cum	20.05		
	sment concrete of specified grade 1.2.	1	0	0	(*
	evoluting the cost of centering and shuttering.	Cum	148.37	7800.76	1157398.76
13	Providing and laying in position specified grade	Cum	. 10.0		
	of reinforced cement concrete including curing				
	but excluding the cost of centering, shuttering,				
	finishing and reinforcement. All works upto		1		0
	plinth level in 1:1.5:3Mix. Using 20mm nominal	/	!	6	
1.4	size of crushed aggregiates : Providing and laying in position specified grade	Cum	36.20	9408.13	340574.3
14	of reinforced cement concrete including curing	Carri			
	but excluding the cost of centering, shuttering,				
	finishing and reinforcement. All works Above				
	plinth level in 1:1.5:3Mix. Using 20mm nominal				0
	size of crushed aggregiates :	e	P	8	
15	Centering and shuttering including strutting.	Sqm	696,58	262.30	182712.93
	propping etc, and removal of form work for				0
37	Foundations, footings, bases for columns	R	(2		
16	Centering and shuttering including strutting,	Sqm	44.64	2086.80	93154.75
	propping etc. and removal of form for: Arches & domes.	,	0 .	2	0
17	Centering and shuttering including starts	0	K	550.05	160710 45
	propping etc. and removal of farms	Sqm	280.06	573.85	160712.43
18	Centring and string course finets, kerbs and steps etc.	1	P	2	4
		0		605.60	34227.06
	propping etc, and removal of form work for Suspended floors	Sqm	53.85	635.60	34227.00

Head Draitsman

Let Wical Officer

Exen

Page 3rd

	Page 3 rd		1 T T T T T T T T T T T T T T T T T T T		
	W.S. Scheme Kanhar C	olony u	nder JJW	Allotted	Amount in
	Particulars of Items	Unit	Quantity	Rate	Rs.
	Particulars of terms	d	1	The state of the s	637.91
1	Lattering in circular work	Sqm	12.16	52.46	007.17 =
)	Extra for shuttering in circular work for Foundations, footings, bases for columns in circular work			114.77	11920.01
9	for Roundations, footings, bases for work	Sqm	103.86	114.77	1
-	for Foundation Shuttering in Circular Work Extra for shuttering in Circular		11.61	417.36	2 18630.95
0	for Walls	Sqm	44.64		1766.56
21		Sqm	29.69	59.50	1766.50
	Extra for shuttering in circular work Applying priming coat:With ready mixed pink Applying priming of approved brand and	l same		-	
2	Applying priming coat: with ready brand and or grey primer of approved brand and soft			0	R
	or grey primer of approved branch manufacture on wood work (hard and soft	R	1	· C	10565.41
	wood) washable distemper of	Sqm	124.08	85.15	10303.41
20	wood) Distempering with oil bond washable distemper of	0	0	0	8
23	approved Drand did	1	(2	476.90	6008.94
	shade. New Worl one of the of 1 25mm thick	KIII	12.60	470.90	
24	Providing and fixing rods of with 2 cromium				
	crominium plated brass	•			^
	plated brass brackets fixed with screws and wooden plugs etc. whatever	0	0	2	· ·
	necessy complete 25mm dia	-	66.00	47.60	3141.60
	necessy complete 25mm dia Providing and fixing aluminium tower bolt IS providing and fixing aluminium tower bolt IS	I No.	00.00		
25	Providing and fixing aluminum toward marked (anodised anodic coating not less than	1			
			100		P
	died to rea colour or shade with hose	y A	1		2115.00
			36.00	58.75	2115.00
	1 China oluminilli Hallulo 12	-			
	grade AC 10 as per IS: 1868) transparent of died to req colour or shade with necessar		0	0	6
	1			239.15	717.45
-	1 C '- Grighed brass (100) law	h No.	3.00	239.13	
	in a second corows cic		1.00	5534.85	5534.85
-	figure water closet squating pair	(No.	- 1.00		
	WC pop) with 100mill Salid non i tra	Ρ,			
	10 lit low level white PVC flushing sistern wi manually controlled device confirming to IS: 72:				
	Porroy ware/ hindware/ Scabird With all little	go			
	and fixtures complete including cutting and make	ng	2 0	e	A CONTRACTOR OF THE CONTRACTOR
1	good the walls& floors wherever requires.	MS No.	1.00	4655.70	4655.70
	Providing and fixing wash basin with CI/N brakets, 15mm CP brass pillar taps, Kinston/ get	m/			
	techno, 32mm CP brass waste of standard patte	rn,			
	including painting of fittings and brakets a	ind			
	making good the walls wherever requir Washbasin size 550x400mm with pillar of 15r	nm	1 0	0	8
	CP brass pillar taps.			3607.90	3607.90
	30 Providing and fixing kitchen sink with	CI No	1.00	3607.90	
	brakets, CP brass chainwith rubber plug			1	0
	white glazing fire clay kitchen sink of size 60 450x 250mm		1 C	1	117.05
	31 Providing and fixing GI inlet connection	for No		117.85	117.85
	flush pipe connecting with WC pan				145.06
	32 Providing and fixing waste pipe for sink	and No	2.00	72.53	
	wash basin			~	0
	33 Providing and fixing electric points included cost of cable lamps and other accessories	ling		, 1	,
	34 Heating Point	No	4.00	1000.00	4000.00
	35 Lighting Point	O No			8800.00
	1 - 1 mby mb i with	- INC	J. K 11.00	(

Hear Dratisman

Technidal Officer

exen

	Page 4 th				
r	Page 4 th W.S. Scheme Kanhar Co	olony u	nder JJI	Allotted	Amount in Rs.
	W.S. Scheme Kanner	Unit	Quantity	Rate	, 0
	Particulars of Items	0	8		418829.91
		Cum	3.02	138685.40	
	Providing , hoisting, trusses, perlins, rafters, like componants including cost of		0	1	
5	Providing, hoisting, trusses, perills, rates of like components including cost of posts or like complete of papular wood	1	77.48	830.25	64327.77
			77.40		
7					
7					
1	1 - or conficulty of				
	have or Willi dir.	L I	1		
	1. Ha loan little	1			
	imor and two dates to tento any bitch	X 1			
	l morlanning of Sheets 1	:) \			
	in horizontal/ volume in rofters all	u i			
	excluding the cost of purlins, ratero excluding the cost of purlins, r	h		R	4
	shape wherever require 275 gram/m2			59.50	1766.56
	zinc coating not icss did	of Sdn	29.69		, 1
38	and brand and market	an	0 6	1	167280.00
	even shade two or more coats.	to Sqr	1200.0	0 139.40	107200.00
39	even shade two or more coats. Preparation of subgrade by excavating earth 1 00.5 cm depth, dressing	to			
	an average of 22.5 cm departs	8-			
	camber and consolidation with load 12 tonne capacity including making good to 12 tonne capacity and disposal of surp	he			
	undulation etc. and disposar of	lus	, \	2	
	earth upto 50 meters.	ned Cu	m 180.0	0 564.60	101020.00
1	earth upto 50 meters. Supplying and stacking at site Graded crush			575.30	103554.00
	stone aggregate of size 63 to 45 mm Supplying and stacking at site Graded crus	hed Cu	ım 0 180.0	375.50	
1.	stone aggregate of Size 33 to 22.7 IIIII		um / 360.0	710.8	5 255906.00
-	42 Laying, spreading and compacting 3	tone Ci /BM	um (360.0		
1	aggregate of specified sizes to w	and			
1	picking rolling with 3 wheeled road / VIDIA	atory			
	reller 8 10 tonne canacity in stages to pr	oper	1		
	grade and camber, applying and proof	ming	*		
	requisite type of screening / binding mater fill up interstices of coarse aggregate, wat	ering		0	0
	and compacting to the required density.		1	0.00 10.3	12360.00
t	43 Spreading 6 mm thick red bajri, watering	g and	Sqm 1200	0.00 10.3	50
	rolling complete including preparation of surface and rolling (Payment for red bajri	of the			
	made separately):	to be	e	&	211067.06
	44 Reinforcement for RCC work including straig	ntning,	Kg 1045	59.59 87.	18 911867.06
	cutting, bending, binding, T.M.T bars	arial in	Vo E1	5.00 61.	50 0 31672.50
	cement concrete work in doses by weight of	cement	Kg 🚶 51	5.00	9
	as per manufacturer's specification. (1 kg o			0	0 8
	proofing material in 50 kg of cement) 46 Brick work in FPS bricksof class design	mation	Cum 4	7.92 618	3.75 296325.3
	75 in foundation and plinth in cement		Cum 4	010	J
	1:6 mix			ℓ	63429.3
	47 Extra for brick work with common but		Cum ^t 4	7.92 132	3.65
	bricks/cement concrete bricks superstructure above plinth level up	s in			
	five level				
		1/		,	Q ₁
	Head Draffsman	Tack	1000		Exen

	Page 5	Colony	under J	JW	Amount in Rs.
	Page 5 W.S. Scheme Kanhar	Unit	Quantity	Allotted	Amount in Ks.
	Particulars of Items	0		Rate	
3.	Patriodia		20.89	3093.80	64629.48
lo	and and	Sqm	20.89	3030.00	
	Providing and fixing panelled or panelled and				
18	Providing and fixing panelled of panelled and glazed shutters for doors, windows and glazed shutters fixing with butt hinges of				
	1-modery Williams 1222-5				
	required size with necessary screws,				
	excluding panelling which will the per- excluding panelling which will the per- separately, all complete as per direction of separately, all complete as per direction of separately, all complete as per direction of		0	1	0
	separately, all complete as per uncomplete separately, all complete as per uncomplete separately, all complete as per uncomplete. Engineer-in-charge, Using First class kail	1		10000100	72687.92
	wood 35mm Thick.	Cum	0.68	106894.00	• 2—25
	wood 35mm Thick. Providing wood work in frames of doors, Providing wood work windows and other				
49	Providing wood work in frames and other windows, clerestory windows and other windows, clerestory windows and fixed in position				
	windows, clerestory windows and fixed in position frames, wrought framed and fixed in position frames, which was or with dash fasteners of	6			
	frames, wrought framed and lixtu in power with hold fast lugs or with dash fasteners of with hold fast lugs of the length (hold fast lugs of				
\	with hold fast lugs or with dash has very lugs of required dia and length (hold fast lugs of required dia fast lugs shall be paid for	r	1	0	
	1 11 doch lasicifcio official		4	2501.75	8380.86
1	separately) Ist Class Kail Wood	g Sqm	3.35	2501.75	
5	separately) lst Class Kall Wood Providing and fixing panelling or panelling panelled or paneled and	d			·
	O Providing and lixing panelling of paneled and glazing in panelled or paneled and	d			
	and glazing in patients of patients and glazed shutters for doors, windows and glazed shutters for doors, and opening for pane	el			•
1	glazed shutters for doors, many clerestory windows (Area of opening for paneling excluding portion inside grooves of inserts excluding portion inside grooves of the control of the contro	or			
	he measured landing				0
1	panelled or panelled and glazed shutters 2	5	1	R	1
	to 40mm thick for Door		1.68	1768.05	8274.4
-	Denviding and fixing panelling or patient	ng Sqm	4.68	1700.00	
1	in papelled of Daneled at	Iu			
	land chutters for doors, Windows at	.iu			
	alorestory windows (Area of opening for par-	101			-
	inserts excluding portion inside grooves	for			
1	rebates to be measured). Panelling panelled or panelled and glazed shutters	25			
1	mm to 40mm thick.for Glass panes 4m	nm	0	0	ℓ
	thick for exterior window shutters	<	6	1	6808.4
	52 clFly proof stainless steel grade 304 w	rire Squ	n 4.68	1454.80	0000.1
	gauge with 0.5 mm dia wire and 1.4 m	nm	0 0	. 2	(
	wide aperture with matching wood beading	g	200.00	2490.00	52016.1
	53 Providing & fixing 30mm thick gar	1	m 20.89	2490.00	
	shutters using galvanised MS wire gauze average width for appueture 1.4,, with v				
		and			
	clerestory windows including ISI mar				
	bright finished or/ and black enamled I	M/s			
	Butt Hinges with necessary screws 1st c	lass		_	1
	Kail wood		n 68.76	l	19940.4
	54 Providing incorporating during constt. J	oint r	n 68.76	290.00	19940.7
	GP Sheets 200 mm wide 55 12mm Thick cement sand plaster finis	ehod S	060 7	270.12	328889.9
	with a floating coat neat cement of mix 1		дп. 869.78	378.13	4
	56 15 mm Thick cement sand plaster fini	-	qm/ 124.0	8 402.49	49940.9
	with a floating coat neat cement of mix 1	.4	1.24.0	0 102.49	1

Page 6th W.S. Scheme Kanhar Colony under JJM

	Particulars of Items	Unit	Qua	intity	Allotted	Amount	in Rs.
	Tarriodiaro et issue	0)	8	Rate 🥜		8
0		Kg	416	66.14	102.13	425	487.88
7 Structu	ural steel work welded in built up	Kg	710	,,,,,,			,
rection	is framed work riveted or bolted	0		P	€	(
include	ed cutting, finishing, fixing in position.	Sqm	36	0.00	733.50	26 ²	060.00
8 Providi	ing and fixing GI Chain Link fabric g of 4mm dia wire of required width in						
fencing	g of 4mm dia wire of required width in						
mesh	50mmx50mm including cost of nuts olts, washers as required at site with		7				,
and b	rriages (Complete Job)	1		1	£	1	27.40.60
	ing priming coat with ready mixed red	Sqm	3'	74.40	52.75	1	9749.60
59 Apply	zine chromate primer of approved						
oxide	d and manufacture on steel galvanised	1				0	
iron	steel work	6	/	2		1	5658.08
CO Dain	ting with synthetic enamel paint of	of Sqn	$i \mid 3$	74.40	121.95	4	3030.00
ou Fain	roved brand and manufacture on stee	21		8			1
malu	oniced iron / steel work	4		100.00	100.00	1	00.000.00
61 Prov	yiding and fixing of nuts and bolts an	d Kg		100.00	100.00	1	
chir	a including one end fix anchor block		_	15.00	100.00		1500.00
62 Pro	viding and fixing 80mm dia PVC pipes for	or Rn	1	15.00	100.00	4	-
	winn purpose		2 .	242.00	1850.00	0 4	17700.00
(2) 1)	widing & fixing incl testing of flanges inc	ci. Joi	11	Z7Z.00			_
0	welding insertion of fubb	CI					
Ga	asket, nuts bolts incl. Earth work	0.5					
re	filling complete job 80 mm dia pipe aying and fitting of G.I Pipes incl cost	of					
64 La	lying and litting of G.I Tipes mer cost		0		R		21122 00
	pe specials	r	n	4000.00	95.28	3	81120.00
65 6	5mm ø G.l		n 0	5800.00	58.30	0 3	38140.00
66 5	Omm ø G.I		" (•		4	163860.00
677		1	n	3000.00	54.62		
4	10mm ø G.I		m	2000.00	39.14	A	78280.00
68	25mm ø G.I			1000.00	9		26760.00
69	20mm ø G.I		m				
70			m,	1000.00	25.40		25400.00
	15mm ø G.I	ding	um	2014.99	198.7	0 0	400378.51
71	Filling available excavated earth (excluerock) in trenches, plinth, sides	of	4	2011.5		9	
	rock) in trenches, plinth, sides foundations etc. in layers not exceeding						
	cm in depth, consolidating each depos	sited					
	layer by ramming and watering, lead upt	lo 50					
	m and lift upto 1.5 m.			1			
72	Carriage of material by mechanical trans	sport					
73	Cement & Steel Avg lead 15 Km		MT	164.7	9 303.6	55 🕻	50038.4
74	Sand for average lead of 56 Km		Cum	0 157.1	8 660.	86	103873.9
75	Bajree for average lead of 56 Km		Cum	250.8	660.	86	165770,1
76	Stone Soling for 56 Km		Cum	814.6	2/ 777.	64	633481.
77	Bricks for average 80 Km	-	No.	22762		-	66692.6
78	Carriage of Pipes from Divisional Sto dumping site on road by M T for avera		МТ	72.4	303	.65	21993.
	km	\cap				C	h

Drawinan id

Technical Officer

Exen

Page 7th W.S. Scheme Kanhar Colony under JJM

	W.S. Scheme Ramas			Allotted	Amount in Rs.
	Particulars of Items	Unit	Quantity	Rate	
1	Extra carriage by manual labour fromdumping site to actual site of woork for av. 200 m Cement & Steel Avg lead 200 m Sand for average lead of 200 m Bajree for average lead of 200 m Stone Soling for 200 m Carriage of Pipe from dumping site to actual site of work by manual labour for 200 m Total Below - 3.51 % on all itmes	M.T Cum Cum Cum	41.89 33.19 (7.84 (17.42 L 72.43 (70	9246.38 7326.03 2720.48 8047.69 26053.07 11214843.00 393640.00 10821202.00
	Allotted Cost				

Rates and quantities checked:

Head Draughtsman

Technical Officer

Executive Engineer

Jal Shakti PHE Division

B Terms and conditions:

- Total amount of the work should in no case exceed beyond <u>Rs.10821202.00</u> (Rs.One Crore Eight lacs Twenty one thousand Two hundred and Two only) which includes all taxes, levies etc.
- 2. The work shall have to be completed by you within a period of 120 days failing which the panality under rules shall be imposed upon you.
- 3. Performance security @ 3% of allotted cost i,e Rs.324636.00 in shape of CDR/BG/FDR shall have be deposited by you in this office within seven days from the date of issue of this allotment from this office failing which action shall be initiated as per SBD of the NIT.
- 4. An agreement shall have to be drawn by you with the department within a period of O7 days from the date of issuance of allotment, failure to executed such a formal deed shall not however prevent the contract from being enforced upon you. However payment on account of this work shall not be considered in absence of agreement.
- 5. The earnest money amounting to Rs.225000/= deposited by you in this office as a bid security against the contract vide CDR/FDR No: 16496349 | dated : 13-04-2023 | shall be considered for release once the performance security @ 3% of allotted amount is deposited by you.

Page 8th W.S. Scheme Kanhar Colony under JJM

- 6. The allotted work shall have to be monitored by Third Party Monitoring Agency (WAPCOAS) appointed by the department.
- 7. All other terms and conditions shall remain same as laid down in E-NIT/ Standard bidding document/PWD from No 25 and GFR-2017.

ccounts Assistant Office

Technical officer

Shakti PHE Division Sopore

Copy to the:

Chief Engineer Kashmir Jal Shakti PHE Department Srinagar for favour of information.

District Development Commissioner Baramulla (Chairperson DJJM) for favour of information.

Superintending Engineer Hydraulic Circle Baramulla/Bandipora (Member Secretary JJM) for favour of

iv) Assistant Executive Engineer PHE Sub Division Watlab for information and necessary action.

v) M/S WAPCOAS Ltd Corporate office 76-C intuitional area sector 18 Gurgon for information.

vi) File Concerned.